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  Group-A  
  (Multiple Choice Type Question) 1 x 70=70

    Choose the correct alternative from the following :

(1)  

 

a)  0 b)  1
c)  2 d)  3

(2)  If A is symmetric as well as skew- symmetric then A is a/an  
a)  Diagonal matrix b)  Null matrix
c)  Identity matrix d)  None of these.

(3)  If A is an idempotent matrix then I-A is a/an  
a)  nilpotent matrix b)  idempotent matrix
c)  involuntary matrix d)  none of these.

(4)  If A is a non-null square matrix, then A-AT is a  

a)  symmetric matrix b)  skew-symmetric matrix
c)  null matrix d)  none of these.

(5)  (AB)T =  

a)  AT+BT b)  ATBT

c)  BT AT d)  none of these.

(6)

 
 

a)  -2 b)  4
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c)  2 d)  0
(7)

 
 

a)  1 b)  -1
c)  2 d)  0

(8)

 
 

a)  O b)  2A
c)  3A d)  5A

(9)

 
 

a)  2 b)  3
c)  4 d) none of these

(10)   For what value of µ does the system of equations x+y+z=1; x+2y-z=2; 5x+7y+ µz=4 have a uni
que solution?  

a)  µ≠2 b)  µ≠1
c)  µ≠3 d)  µ≠4

(11)

 
 

a)  3/4 b)  3/5
c)  3/2 d)  1

(12)  The equation x-y=0 has  
a) no solution b) exactly one solution
c) exactly two solutions d) infinite number of solutions.

(13)

 

 

a)  2 b)  0
c)  405 d)  -1

(14)

 

 

a)  -24, 24 b)  24, -24
c)  -24, -24 d)  none of these.

(15)  
 

a)  1 b)  0
c)  2 d)  3

(16)  
 

a)  2 b)  3

Page 2 of 9



c)  5 d)  None of these
(17)  

 

a)  1,1,1 b)  0,0,0
c)  1,0,0 d)  0,1,1

(18)  
 

a)  is a basis of V b)  linearly dependent
c)  linearly independent but not a basis d)  None of these

(19)    

a)
 

b)
 

c)
 

d)
 

(20)

 
 

a)  linear mapping b)   is not a linear mapping
c)

 
d)  None of these

(21)
 

 

a)
 

b)
 

c)
 

d)  None of these

(22)

 
 

a)   b)  
c)   d)  None of a, b, c is true.

(23)  Let A and B be two subspaces of a vector space V, then  
a)   b)  

c)   d)  

(24)    
a)   b)  
c)   d)  

(25)

 

 

a)  a scalar b)  a vector
c)  neither a scalar nor a vector d)  both scalar and vector

(26)  Which of the following is not linear transformation?  
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a)
 

b)
 

c)
 

d)
 

(27)
 

 

a)  dim(V) b)  0
c)  1 d)  dim(V) - 1

(28)    

a)
 T is surjective

b)  

c)   d)
 

(29)
 

 

a)  nullity(T) = n b)  rank(T) = nullity(T) = n
c)  rank(T) + nullity(T) = n d)  rank(T) – nullity(T) = n

(30)

 

 

a)  only f b)  only g
c)  only h d)  all the transformations f,g,h

(31)

 

 

a)   b)  

c)   d)  

(32)
 If A

2
=A, then its Eigen values are either  

a)  0 or 2 b)  1 or 2
c)  0 or 1 d)  Only 0

(33)    

a) b)
c)

 

d)  Can Not be determined
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(34)    
a)  Singular Matrix b)  Non-Singular Matrix
c)  Symmetric Matrix d)  Skew-Symmetric matrix

(35)
 

 

a) 1 b) -1
c) 0 d)  None of -1,0,1

(36)    
a)   b)  

c)   d)  

(37)
 

 

a)  -1 b)  0
c)

 1
d)  

(38)    

a) b)
c) d)

(39)    

a)   b)  
c)

 
d)

 
(40)

 
 

a)   b)  
c)

 

d)
 One of a, b, c is false

(41)

 

 

a)

 

b)
 

c)
 2

d)

 
(42)

 
 

a) b)
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c)

 

d)

 
(43)  Any set of linearly independent vectors can be orthonormalized by the:  

a)  Cramer’s  rule b)  Sobolev Method
c)  Gram-Schmidt procedure  d)  Pound-Smith procedure

(44)  The diagonalizing matrix is also known as:   
a)  Eigen Matrix b)  Constant Matrix
c)  Modal Matrix d)  State Matrix

(45)

 
 

a)   b)  
c)   d)  

(46)

 
 

a)
 

b)
 

c)
 

d)
 

(47)
 

 

a)  A has 3 l.d Eigen vectors b)  A has 3 l.i Eigen vectors
c)  A has 3 distinct Eigen values d)  Two of a, b and c is true

(48)
 

 

a)
 

b)

 
c)   d)  One of a, b and c is false

(49)    
a)   b)  
c)   d)  

(50)
   

a)   b)  
c)   d)  

(51)

 
 

a)  1, 3 b)  2, 1
c)  2, 2 d)  1, 2

(52)
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a)

 

b)
 

c) d)

 
(53)

 
 

a)  P and Q are both functions of x b)  P and Q are both functions of y
c)  P and Q are the functions of x and y, respectively d)  P and Q are the functions of y and x, respectively

(54)

 
 

a)

 

b)

 
c)

 

d)
 None of these

(55)
 

 

a)
 

b)
 

c)
 

d)  None of these

(56)  

a)   b)  
c)   d)  

(57)

 
 

a)   b)  
c)   d)  

(58)

 
 

a)   b)  
c)   d)  

(59)

 
 

a)

 

b)

 
c)

 

d)
 None of these

(60)

 
 

a)   b)  
c)   d)  None of these
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(61)
 

 

a)
 

b)
 

c)
 

d)  None of these

(62)

 
 

a)   b)  

c)   d)
 None of these

(63)

 
 

a)   b)
 

c)
 

d)  None of these

(64)

 
 

a)   b)  
c)   d)  

(65)
 

 

a)
 

b)
 

c)   d)  None of these

(66)

 
 

a)  -4 b)  4
c)  -1 d)  1

(67)

 

 

a)   b)  
c)   d)  

(68)

 
 

a)

 

b)

 
c)   d)

 
(69)

   

a)   b)  
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c)   d)  
(70)    

a)
 

b)
 

c)
 

d)
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